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Multiple Choice (2 point each)

Michelle grows apples and catches fish. Last year she harvested 1500 apples and 600 fish. She values one
fish as having a worth of three apples. She gave James 300 apples and 100 fish for helping her to harvest
apples and catch fish, all of which were consumed by James. Michelle set aside 200 fish to help with next
year's harvest. In terms of fish, consumption would equal
(A) 700 fish. (B) 900 fish. (C) 1100 fish. ( D) 2700 fish.

What is the unemployment rate if there are 180 million people employed, 6 million people unemployed, and
14 million not in the labor force?

(A) 3.00% (B) 3.23% (C)3.33% (D) 3.65%

In forecasting consumer spending using surveys of consumer confidence, research suggests that

(A) the forecasts are not improved when using consumer-eenfidence measures.

(B) the forecasts are improved when using eénsumer confidenece measures.

(C) the forecasts are improved when using consumer confidence measures for forecasts made during
recessions, but not expansions.

(D) the forecasts are not improved-when using consumer confidence measures for forecasts made during
expansions, but not recessions.

. An increase in the price of capital goods will

(A) increase the expected future marginal product of capital.

(B) reduce the expected future marginal product-of capital.

(C) increase the interest cost and the depreciation cost of capital.

(D) increase the interesticast but not aftect the depreciation cost of capital.

. Suppose output is $25 billion, govemment purchases are $9 billion, desired consumption is $12 billion, and

desired investment is $6 billion. Net foreign lending would be equal'to
(A) -$4 billion. (B) -$2 billion. (C) $2 billion. (D) $4 billion.

According to the Solow model, an increase in-the capital-labor ratio will

(A) always reduce steady-state consumption per worker:

(B) always increase steady-state consumption per worker.

(C) reduce steady-state consumption per worker if the capital—labor ratio is below the Golden rule capital
stock.

(D) increase steady-state consumption per worker if the capital—labor ratio is below the Golden rule capital
stock.

If rcal income rises 4%, prices rise 1%, and nominal money demand rises 4%, what is the income elasticity
of real money demand?

(A) 3/4 (B) 4/5 ()1 (D)5/3

if the asset market is to remain in equilibrium, then if the money supply increases, output is unchanged, the
price level is unchanged, and the expected inflation rate is unchanged, then

(A) the real interest rate must rise. (B) the real interest rate must decline.

(C) the nominal interest rate must rise. (D) the inflation rate must rise.

The Conference Board Leading Economic Index (LEI) for US includes 10 data series that are used to
forecast economic activity about in advance.
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(A) one month (B) six to nine months (C) one to two years (D) five to ten years
10. Which of the following is frue?
(A) Employment is procyclical and unemployment is coincident with the business cycle.
(B) Industries that are extremely sensitive to the business cycle are the capital goods and nondurable goods
sectors.
(C) Nominal interest rates are procyclical and leads the business cycle.
(D) Research on the effects of recessions on the real level of GDP shows that recessions cause both temporary
and permanent declines in real GDP, but most of the decline is temporary.

11. Which of the following is true?

(A) Based on the sticky-price model, the short-run _aggregate supply curve will be steeper, the greater the
proportion of firms with flexible priges

(B) According to the sticky-wage model, an unexpected increase in the price level raises the real wage,
increases the quantity of labor.hired, and increases the quantity of output produced.

(C) The imperfect-information.model bases the difference in the short-run and long-run aggregate supply
curve on procyclicalreal wages.

(D) The sticky-wage model predicts that the real wage is proeyclical and data indicate that the real wage in
the United States is countercyclical.

12. Which of the following is frue?

(A) A speculative atiack on a currency occurs when a central bank adopts a currency board to back the
domestic currency with a foreign currency.

(B) If short-run equilibrium in the Mundell-Fleming model is represented by a graph with Y along the
horizontal axis and théxexchangelrate along the vertical axis, then the LM* curve is vertical because the
exchange rate does not enter into the LM* equation.

(C) Assuming there is perfect capital mobility, compared to a large open economy, a small open economy is
one in which the exchange rate is floating:

(D) If the exchange rate of currency A is fixed to.a unit of currency B, then a potential problem for the central
bank in charge of currency A 18 running out of currency A.

13. Which of the following is frue?

(A) In the Keynesian model in the [ofigrama decrease ifrthe-meoncy supply will cause no change in the real
interest rate and a decrease in the price level.

(B) In the Keynesian model in the long run, an increase in taxes causes the price level to fall and the real
interest rate to rise.

(C) Keynesians explain the procyclical behavior of average labor productivity by introducing the concept of
menu costs.

(D) In the efficiency wage model with the efficiency wage above the market-clearing wage, when
employment is at its full-employment level therc is an excess demand for labor.

14. Which of the following is false?
(A) Other things being equal, an increase in the effective tax rate on capital would cause the IS curve to shift
down and to the left.
(B) The Federal Reserve has increased the money supply to avoid a recession. For a given price level, you
would expect the LM curve to shift down and to the right as the real money supply rises.
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(C) Other things being equal, the IS-LM model predicts that a temporary benefieial supply shock increases
output, national saving, and investment, but not the real interest rate.
(D) An increase in taxes (when Ricardian equivalence doesn't hold) causes the real interest rate to fall and

the price level to rise in general equilibrium.

15. Which of the following is false?

(A) A temporary adverse productivity shock would decrease the level of employment.

(B) An adverse supply shock would directly decrease labor productivity by changing the amount of output
that can be produced with any given amount of capital and labor. It would also indirectly increase average
labor productivity through changes in the level of employment.

(C) One important reason why the Solow residual may be strongly procyclical even if the actual technology
used in production doesn't change 1s thatsefiploymentsis procyclical.

(D) Prescott's calibrated RBC model was able to match the'data in terms of the correlation between many
key macroeconomic variables and/GNP; that is, in terms of how closely they moved with GNP over the
business cycle.

16. Which of the followingis faise?

(A) Advocates of passive policy argue tharbecause monetary and fiscal policy lags are long and variable
these policies should not be used to ofiset shocks.

(B) If people's expectations of inflation are formed rationally rather than based on adaptive expectations and
if policymakers make a credible policy move to reduce inflation, then the costs of reducing inflation will
be much lower than traditional estimates of the sacrifice ratio.

(C) Policy is conducted by rule if policymakers announce in advance how policy will respond to various
situations and commit themselves to following through on this announcement.

(D) An argument in faver of allowing discretionary macroeconontic, policy is that policymakers may make
erratic shifts in policy in responscito changing political situations.

17. Which of the following is false?

(A) The relationship between short-run aggrepatesupply curves and Phillips curves is that there is exactly
one Phillips curve corresponding to each short-run aggregate supply curve.

(B) Based on the Phillips cugve, unexpected movements in inflation are related to unemployment and based
on the short-run aggregate supply curve, uncxpected movements in'the price level are related to output.

(C) Inflation inertia is representedwin.the-agfregate “supply. and”aggregate demand model by continuing
upward shifts in the long-run aggregate supply curve.

(D) According to the natural-rate hypothesis, fluctuations in aggregate demand affect output in only in the
short run.

18. The reason that the income response to a fiscal expansion is generally less in the /S-LM model than it is in

the Keynesian-cross model is that the Keynesian-cross model assumes that:

(A) investment is not affected by the interest rate whereas in the 1S-LM model fiscal expansion lowers the
interest rate and crowds out investment.

(B) investment is not affected by the interest rate whereas in the IS-LM model fiscal expansion raises the
interest rate and crowds out investment.

(C) investment is autonomous whereas in the 15-LM model fiscal expansion encourages higher investment,
which raises the interest rate.

(D) the interest rate is fixed whereas in the IS-LM model it is allowed to vary.
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19. In the classical model, a temporary decrease in government spending would cause a decrease in
(A) output, employment, the real interest rate, and the price level.
(B) output, employment, real wages, and the price level.
(C) output, the real interest rate, real wages, and the price level.
(D) employment, the real interest rate, real wages, and the price level.

20. The Fed's forward guidance in late 2012 through mid-2015 was {ramed in terms of keeping interest rates
low
{A) until the next Presidential election.
(B) at least until a particular date in the future.
(C) for an extended period.
(D) based on outcomes for the unemployment rate and inflationirate.

II.  Analytical Questions (60 points in total)
1. (10 points) In the Keynesian model, suppose the Fed sets.a target for the real interest rate. Describe how
the real interest rate changes in a Keynesian model if a decrease in the effective tax rate on capital causes

he movement of the IS /curve and the Fed changes its policy to keep output unchanged.
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